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OSIIBAHI(SSHI)
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OHIIZAHI(ASH)
9,285,449,0002 *78%+80%*1/12%1/30% 11 190,321
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400,000 x2F «12& 9,600
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550,000& x2F »12& 13,200
ORHISRASY 50,0002 * 126« 122 75,000
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5,946,875,2003 *110% 6,541,563
02 JIEtRE = 12,406,719 9,838,510 2,568,209
oJl2=s 9,458,647
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-15E0|2H(11&3)
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OFJANHBSEH (128 8)
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-3 0|4 1,300,000 x2H x 12& 31,200
-5 0| & 1,312,000& x2H x 128 31,488
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OHIAZZ(HS) 185,000 9 » 128 19,980
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OB (TS AE)
185,000& x21& x 128 46,620
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OSHAIZDIHM 72
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OJ|=H 213,900
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OpIE==1)=) 37,152
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OZE SOt 3,095, Y403 *50%*1H +23| 3,0%
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